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Solved Examples

1. Find P,q,r and S if

p+4 2q—7 B 6 —3
s—3 r+2s| |2 14


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_RhLNHOlpshUk

° Watch Video Solution

2. If P -3 1 L6 d
‘ =9 59 |_4 o] ™

4 —1
R = find the value of
2 3

4P — 2Q + 3R.

o Watch Video Solution

3. Find the matrix X such that

2 6
A+ 3B+ X =0, where A:[ ] and

5 8
1 2
B =
N


https://dl.doubtnut.com/l/_RhLNHOlpshUk
https://dl.doubtnut.com/l/_Z50NNtfuUwjK
https://dl.doubtnut.com/l/_KUOZ8mpKZPAV

° Watch Video Solution

Question Bank 14

E
1. The order of the matric | 3
| 4]
Alx3
B.3 x1
C.l1x1

D.3 x 3



https://dl.doubtnut.com/l/_KUOZ8mpKZPAV
https://dl.doubtnut.com/l/_MTLy3O8CAShm

Answer: B

o Watch Video Solution

2. Which of the following pair of matrices are

equal?
10 0 1
A. ,
o 1) [5 o]
-4
B.[4 5 6], |5
_6_
E 3+ 1 \/4_9]
: | 71
|3 2] | T3 V8
(4 0] [4 0
D. :
0 4] |4 4



https://dl.doubtnut.com/l/_MTLy3O8CAShm
https://dl.doubtnut.com/l/_LjhToKLTssRQ

Answer: C

o Watch Video Solution

3. A square matrix A has 9 elements. What is

the possible order of A?

Alx9

B.9x9

C.3x3

D.2 X 7


https://dl.doubtnut.com/l/_LjhToKLTssRQ
https://dl.doubtnut.com/l/_4K8l2uLHhVnf

Answer: C

o Watch Video Solution

- 197

. 10 | .
4. The matrix IS a
13

A. square matrix

B. row matrix

C. column matrix

D. null matrix


https://dl.doubtnut.com/l/_4K8l2uLHhVnf
https://dl.doubtnut.com/l/_lSsiDmY3TiAv

Answer: C

o Watch Video Solution

IS an

S = O
oo O

A. unit matrix

B. null matrix

C. diagonal matrix

D. row matrix


https://dl.doubtnut.com/l/_lSsiDmY3TiAv
https://dl.doubtnut.com/l/_OBAi8n4tzyv7

Answer: C

o Watch Video Solution

6. Which of the following statements is true?

A. Every zero matrix is a square matrix
B. A unit matrix is a diagonal matrix
0 1

10
C.[ ] is the identity matrix for

additionn of 2 X 2 matrix

4 x 4 51 .
D. = if x=5
e


https://dl.doubtnut.com/l/_OBAi8n4tzyv7
https://dl.doubtnut.com/l/_ciic7yWLvQjN

Answer: B

o Watch Video Solution

2 3 r—3 3
7. If = then the
0 y—1 0 2

values of x and y respectively are

A3, —3
B.—3,3
c.—-3, —3

D.3,3


https://dl.doubtnut.com/l/_ciic7yWLvQjN
https://dl.doubtnut.com/l/_JoNxqAtx9Xsp

Answer: B

o Watch Video Solution

mxn’ mxn

element Cy3 of the matrix C = A + Bis

A. ais -+ b13
B. as3 + b3z
C. as3 + b23

D. aso + b23


https://dl.doubtnut.com/l/_JoNxqAtx9Xsp
https://dl.doubtnut.com/l/_T1dH1C61oYB2

Answer: C

o Watch Video Solution

3 —2
9. Given matrix A = [2] and B = [ 1]

find the matrixXsuchthat X — A = B

0
A'_O_
1
B°_1_
-4
CO_O_
1
D. q


https://dl.doubtnut.com/l/_T1dH1C61oYB2
https://dl.doubtnut.com/l/_9xuOz2snXv6A

Answer: B

o Watch Video Solution

10.|fA:[w y],B:[w _y]
zZ w —Zz W
—2x 0 )
andC’:[ then A+ B+ C is
0 — 2w
a

A. identify matrix

B. null matrix

C. row matrix


https://dl.doubtnut.com/l/_9xuOz2snXv6A
https://dl.doubtnut.com/l/_jTlC72hCXzqa

D. column matrix

Answer: B

o Watch Video Solution

w2 T 4= |70 0 the matri
. 9 0 —+ = 43 e matrix

A equals

o
1
|
Do | ot
W O mlw W
I


https://dl.doubtnut.com/l/_jTlC72hCXzqa
https://dl.doubtnut.com/l/_t1SL9wWXFF3t

o [V ]

Answer: B

° Watch Video Solution

2 Gven A— |2 Y| Bl 73 ? d
. Given A =1, |, 4 ol @

0
A+X=2B+C.

1 0 ,
C = [ 2], find the matrix X such that

5 —T7
A.
|2 6
-7 2
B.
L 6 5



https://dl.doubtnut.com/l/_t1SL9wWXFF3t
https://dl.doubtnut.com/l/_CbYTDW2ueZOf

—7 5]
C.
| 6 2]
—7 6]
D.
| 0 2]
Answer: C

° Watch Video Solution

13. A 2 X 2 matrix whose elements a;; are

givenbya;; =1 — jis



https://dl.doubtnut.com/l/_CbYTDW2ueZOf
https://dl.doubtnut.com/l/_qiQDj1VKeCyu

—1 0]
C.
0 1]
0 1]
D.
-1 0
Answer: B

° Watch Video Solution

14. The values of x and y respectively if
2z +y 5
= are:
3r — 2y 4

Ax= —2,y=

@
8
|

_27y: — 1


https://dl.doubtnut.com/l/_qiQDj1VKeCyu
https://dl.doubtnut.com/l/_3Lmmipy8362B

Answer: C

° Watch Video Solution

15. Solve the matrix equation
2 1 sy -7 4
50/ 7 |2 6
A X 3 1]
-1 2
- (3 —1]
1 -2



https://dl.doubtnut.com/l/_3Lmmipy8362B
https://dl.doubtnut.com/l/_cVwbyEVWbgzY

T3 1]
C.X =
__1 _2_
3 17
D. X =
L 1 _2_
Answer: B

° Watch Video Solution

Self Assement Sheet 14

1. If the matrix is a square matrix and it

contains 36 elements then the order of the

matrix is


https://dl.doubtnut.com/l/_cVwbyEVWbgzY
https://dl.doubtnut.com/l/_ig2donTNlXxe

A4 x4

B.8 X &

C.6 X6

D.3 x 3

Answer: C

° Watch Video Solution

2. The element in the second row and third

4 5 —06]]
column ofthematrix |3 —4 3 | is
2 1 0



https://dl.doubtnut.com/l/_ig2donTNlXxe
https://dl.doubtnut.com/l/_Z217I6rMHz8r

A3

B.1

C.2

Answer: A

o Watch Video Solution

3. Gi that M 52 d
. Iven a = _4 0 an

-2 2
N = then M + Nis a
5 0


https://dl.doubtnut.com/l/_Z217I6rMHz8r
https://dl.doubtnut.com/l/_QRNKnu16pL34

A. null matrix
B. unit matrix

(0 1
C.
5o

Answer: B

° Watch Video Solution

aif2|® Lyl [ 7 90y,
o5 2] Tlo 1| = |10 5™

A. x=0,y=-2


https://dl.doubtnut.com/l/_QRNKnu16pL34
https://dl.doubtnut.com/l/_5uL73Frah7Qe

B. x=2,y=-8

C. x=-2,y=-8

D. x=2,y=8

Answer: B

o Watch Video Solution

5 1
s |ZTY et the the
a—b z—y 3—5

values of x, y, a, b are respectively.

A. 0,-5,1,2


https://dl.doubtnut.com/l/_5uL73Frah7Qe
https://dl.doubtnut.com/l/_i8wnwv0PkRYA

B. 0,5,1,-2

C.0,5,-1,2

D. 0,-5,1,-2

Answer: B

o Watch Video Solution

Unit Test 2

1. The simplified form of the rational

) z? L =Y .
expression | — — 1 +2]is


https://dl.doubtnut.com/l/_i8wnwv0PkRYA
https://dl.doubtnut.com/l/_HwtrfnJk8OOx

Answer: C

o Watch Video Solution

2.  +y=a and xy = b, then the value of

1 1
PR


https://dl.doubtnut.com/l/_HwtrfnJk8OOx
https://dl.doubtnut.com/l/_U6aMieQyDxnx

A a® — 3ab

a’® + 3ab
B.
b3
a® — 3ab
b3

D.a® + 3ab

Answer: C

° Watch Video Solution

3.1f a®* = (b+c¢), b°

I
—~
@)
_|_
-}
~
a

[N
I
—~
-}
_|_
S
~—

then the value of is
a-+1 b+ 1 c+1

equal to


https://dl.doubtnut.com/l/_U6aMieQyDxnx
https://dl.doubtnut.com/l/_ZxNeAgqQFTl8

Al

Answer: A

° Watch Video Solution

4. If ﬁ—|—£:1 and

b

r b Yy

2+ Z will be equal to: (a) O (b) b (€)1 (d)
a z Y b

_|_i:1 , then
C


https://dl.doubtnut.com/l/_ZxNeAgqQFTl8
https://dl.doubtnut.com/l/_nhGdmlXcZbbo

Q| o

C.0

D. 1

Answer: D

° Watch Video Solution

5. The factors of z*+ 22425 are

(a:2+3a:—|—5)(:c2—3:1:+5)


https://dl.doubtnut.com/l/_nhGdmlXcZbbo
https://dl.doubtnut.com/l/_XbabgOhBHiOC

(z* + 3z + 5) (z° + 3z — 5)
(:1; +:1:+5)(ac —w—|—5) (d) none of these
(a: +5)(:13 —:c+5)
B.(:c2+5+a:)(zc2+5—a:)
C.(:z:2—|—5—|—3x)(az2—|—5—3az)

D. (:132 + 5)2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_XbabgOhBHiOC

6. The factors of (a,2 + 361)2)2 — 169a2b? are:

A. (a + 13b)(a — 13b)
B. (a + 4b)(a + 9b)(a — 4b)(a — 9b)
C.(a + 6b)(a — 13b)(a + 13b)(a + 6b)

D. (a — 13b)(a + 6b)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_24C9zaW9qFKf

7. One of the factors of a® + 8% — a%b* — a*p?

IS

Aa-+1

B.a’ + b

C.a®>+ b

D.a* + b*

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hS8NOaed8dVX
https://dl.doubtnut.com/l/_1Z9BQFx3efnn

8.In a number of three digits the units digit is

double the tens' digit. The sum of the number

and the number formed by reversing the

digits is 1191 and the average of three digits is

5. What is the number?

A. 663

B.378

C.924

D. 843

Answer: B

| s ]


https://dl.doubtnut.com/l/_1Z9BQFx3efnn

| ¥ View Text Solution

9. A batsmen's average before the last two
innings of a seasons was 66. He failed to score
in those innnings and his average dropped to
55. How many innings did he play that season.
A. 10
B. 11

C.12

D.8


https://dl.doubtnut.com/l/_1Z9BQFx3efnn
https://dl.doubtnut.com/l/_J5zzQLNaoGIN

Answer: C

o Watch Video Solution

10. The solution of the equations:
3(x+3y—1)=2(y—3x+1) and

3(5y — Tx — 3) = 2(bx + Ty + 12) are

Axz=19y=2
Bx = —1,y=2
Czx=1Ly= —2


https://dl.doubtnut.com/l/_J5zzQLNaoGIN
https://dl.doubtnut.com/l/_UBXtw4xW9kaq

Answer: B

o Watch Video Solution

11. Some bananas are to be shared among a
number of children. To give each child 9
bananas would required 15 more bananas. But
if the share of each is 8 there are 10 bananas

left over. How many babanas are there?

A. 200

B. 210


https://dl.doubtnut.com/l/_UBXtw4xW9kaq
https://dl.doubtnut.com/l/_TfdIo9XGkV6I

C.120

D. 140

Answer: B

° Watch Video Solution

12. The value of K for which the system of
equations x+2y+7=0 and
2 + ky+ 14 =0 have infinitely many

solutions is


https://dl.doubtnut.com/l/_TfdIo9XGkV6I
https://dl.doubtnut.com/l/_J0JYD8MZ3Rho

A2

B.4

C.6

D.8

Answer: B

° Watch Video Solution

13. Roots of the equations

2 +:c(2—p2) — 2p* = Oare


https://dl.doubtnut.com/l/_J0JYD8MZ3Rho
https://dl.doubtnut.com/l/_WBRz5Iqprwyh

A. —p* and —2
2
B.p“ and —2
2
C.—p“and 2

D.p? and 2

Answer: B

o Watch Video Solution

4 3
14. The roots of the equation — =1+ —
x> x

are


https://dl.doubtnut.com/l/_WBRz5Iqprwyh
https://dl.doubtnut.com/l/_pIFXfywsDPmk

A—1, —4

B. 1,4

C.1, —4

D.—1,4

Answer: C

° Watch Video Solution

15. Find the value of x if the shaded area is a

half of the whole area in the given diagram.


https://dl.doubtnut.com/l/_pIFXfywsDPmk
https://dl.doubtnut.com/l/_gopvSBGjoaR7

A.4cm

B. 6cm

C.3cm

D. 2cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gopvSBGjoaR7

16. Find two numbers which are such that the
sum of the first and twice the second and also
the sum of their squares are equal to 5.

A 1.3

B.1,2

C.2,3

D.34

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_gopvSBGjoaR7
https://dl.doubtnut.com/l/_lOjEclAlj8fk

17. If x and y are positive integers that satisfy
1<z <4 and 3z + 2y <13, then the
possible values of y are:
A.1,2,345
B.1,2,3,4,5,6
C L 3,5
. 57 )

D.2,3/4,5

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_lOjEclAlj8fk
https://dl.doubtnut.com/l/_CMhg80twfYOr

18.1f 6 < x < 8then

A (z—6)(z—8) >0
B.(x —6)(x —8) >0
C.(x —6)(x —8) <0

D.(z —6)(x —8) <0

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_CMhg80twfYOr
https://dl.doubtnut.com/l/_Aq5jiwP9oIPx
https://dl.doubtnut.com/l/_cDlniFm1mgBZ

1 1
19.if 23 — — = 14, then x — —

L

A2

B.3

C.4

D.5

Answer: A

T

° Watch Video Solution



https://dl.doubtnut.com/l/_cDlniFm1mgBZ

20.The LCM of the polynomials (:c8 — y8) and

(:134 — y4) (z + y) is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FfgUlUJDCRgl

